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1. Select the correct statement(s) below: (15%)

(a)In a viscous fluid flow, a favorable pressure gradient is the one in which pressurc
gradient increases with downstream distance.-

(b)In a boundary layer, the norma! diffusion is much smaller than the stream-wise
diffusion.

() A flow with secondary flow usually has stronger mixing effect than the one
without secondary flow.

(d) The distinct feature of atmospheric (or planetary) boundary layer is that flow is
turbulent constantly.

(e) In free atmosphere, the wind vector is parallel to the constant-pressure surface.
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. What is health and risk assessment? Please describe the concept of applying health and
risk assessment to derive soil and groundwater remediation goals. (10%)

. Please use the concept of “ireatment train” to develop a remedial system for
chlorinated-solvent contaminated groundwater remediation. (10%)
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